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kAo 38,347 33,728 4,619 110 65 45 62 39 23
B AR 22,749 19,599 3,150 79 40 39 36 16 20
2 B4R 7,596 7,139 457 31 25 6 26 23 3
B 8,002 6,990 1,012 - - - - - -
B AR 1,719 1,443 276 3 1 2 3 1 2
B AR 1,630 1,359 271 3 1 2 3 1 2
> B4 R 51 51 - - - - - - -
N 38 33 5 - - - - - - - - -
A 2R A B 7,740 6,800 940 8 4 4 4 2 2 4 2 2
B AR 3,888 3,417 471 8 4 4 4 2 2 4 2 2
> B4 R 3 3 - - - - - - - - - -
TR 3,849 3,380 469 - - - - - -
AR AR 4,295 3,550 745 8 4 4 8 4 4
AR AR 3,581 2,958 623 8 4 4 8 4 4
A B 1 - 1 - - - - - -
TR 713 592 121 - - - - - -
3 WL & 5,341 4,392 949 9 3 6 9 3 6
AR AR 4,954 4,080 874 9 3 6 9 3 6
< EF“ A ﬁ - - - - - - - - -
RN 387 312 75 - - - - - -
L ELPAR S 2,662 2,345 317 5 2 3 5 2 3
ARA R 2,101 1,836 265 4 2 2 4 2 2
> B A R - - - 1 - 1 1 - 1
ERAELS 561 509 52 - - - - - -
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a3t 100.0 88.0 12.0 100.0 59.1 40.9 56.4 35.5 20.9 43.6 23.6 20.0 -
AR R 100.0 86.2 13.8 100.0 50.6 49.4 45.6 20.3 25.3 54.4 304 24.1 -
> B AR 100.0 94.0 6.0 100.0 80.6 19.4 83.9 74.2 9.7 16.1 6.5 9.7 -
=8 1000 874 126 i i i i i i i i i i
L I -4 100.0 83.9 16.1 100.0 33.3 66.7 100.0 33.3 66.7 - - - -
B AR 100.0 834 16.6 100.0 333 66.7 100.0 333 66.7 - - - -
> B AR 100.0 100.0 - - - - - - - - - - -
GRS 100.0 86.8 13.2 - - - - - - - - - -
AL B 100.0 87.9 12.1 100.0 50.0 50.0 50.0 25.0 25.0 50.0 25.0 25.0 -
B AR 100.0 87.9 121 100.0 50.0 50.0 50.0 25.0 25.0 50.0 25.0 25.0 -
a4 E%‘« AR 100.0 100.0 - - - - - - - - - - -
= 1000 878 122 ; ; - - - - - - 3 -
AR A 100.0 82.7 17.3 100.0 50.0 50.0 100.0 50.0 50.0 - - - -
B AR 100.0 82.6 174 100.0 50.0 50.0 100.0 50.0 50.0 - - - -
a4 E%‘« AR 100.0 - 100.0 - - - - - - - - - -
AL 100.0 83.0 17.0 - - - - - - - - - -
=LA 100.0 82.2 17.8 100.0 33.3 66.7 100.0 33.3 66.7 - - - -
B AR 100.0 82.4 17.6 100.0 333 66.7 100.0 333 66.7 - - - -
> E%‘:, A E‘i - - - - - - - - - - - - -
= 1000 806 194 i i i i i i i i i i
LA S 1000 881  119| 1000 400 600 1000 400  60.0 - - - -
B4R 1000 874  126| 1000 500 500 1000 500 500 : : i i
< B4R - - | 1000 - 1000  100.0 - 1000 - - - -
= 1000 907 9.3 i i i i i i i i i i
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3 g [ 3 g - = | g [ = R i *
2 5B 100.0 88.0 12.0 100.0 42.9 57.1 57.1 42.9 14.3 42.9 - 42.9
A l%‘« A R 100.0 88.2 11.8 100.0 42.9 57.1 57.1 42.9 14.3 42.9 - 42.9
< l*'f%& A R 100.0 100.0 - - - - - - - - - -
FRR 100.0 872 128 - - - - - - - - -
Lahis B 100.0 95.0 5.0 100.0 33.3 66.7 50.0 16.7 33.3 50.0 16.7 33.3
# E%‘« AR 100.0 94.9 5.1 100.0 33.3 66.7 50.0 16.7 33.3 50.0 16.7 33.3
S B%& A ﬁ - - - - - - - - - - - -
ik 100.0 96.2 3.8 - - - - - - - - -
A % 100.0 95.2 48| 1000 95.5 45  100.0 95.5 45 - - -
BB AR 100.0 97.3 2.7 - - - - - - - - -
< E%‘« AR 100.0 95.2 4.8 100.0 955 45 100.0 955 45 - - -
ik 100.0 92.6 7.4 - - - - - - - - -
I QA 100.0 87.3 12.7 100.0 47.8 52.2 - - - 100.0 47.8 52.2
# E%‘« AR 100.0 91.9 8.1 100.0 50.0 50.0 - - - 100.0 50.0 50.0
< E%‘« AR 100.0 81.0 19.0 100.0 33.3 66.7 - - - 100.0 33.3 66.7
R 1000 873 127 - - - - - - - - -
R Yo 100.0 90.5 95 100.0 73.7 26.3 21.1 10.5 10.5 78.9 63.2 15.8
A E‘ﬁ« AR 100.0 89.7 10.3 100.0 78.6 21.4 7.1 - 7.1 92.9 78.6 14.3
< E?é« AR 100.0 75.0 250 100.0 60.0 40.0 60.0 40.0 20.0 40.0 20.0 20.0
kR 100.0  97.8 2.2 - - - - - - - - -




